
 

  

Alphabet Algebra 

Can you work these equations out? 

 

  

A = K ÷ 4  A =  

B = D + 3  B =  

C = 2K  C =  

D = 6  D =  

E = 10J + 1  E =  

F = A + D   F =  

G = 2U - D  G =  

H = 2Z  H =  

I = H ÷ 4  I =  

J = D ÷ 2  J =  

K = 20  K =  

L = V + D  L =  

M = 2R  M =  

N = K - 19  N =  

O = R + I  O =  

P = A²  P =  

Q = 2U + D  Q =  

R = B + D  R =  

S = 2V - J  S =  

T = P - D  T =  

U =  M ÷ 3  U =  

V = 2F  V =  

W = T - 6  W =  

X = R + J  X =  

Y = 2J + U  Y =  

Z = K ÷ 5  Z =  



 

  

Alphabet Algebra Answers 

 

 

A = K ÷ 4  A = 5 

B = D + 3  B = 9 

C = 2K  C = 40 

D = 6  D = 6 

E = 10J + 1  E = 31 

F = A + D   F = 11 

G = 2U - D  G = 14 

H = 2Z  H = 8 

I = H ÷ 4  I = 2 

J = D ÷ 2  J = 3 

K = 20  K = 20 

L = V + D  L = 28 

M = 2R  M = 30 

N = K - 19  N = 1 

O = R + I  O = 17 

P = A²  P = 25 

Q = 2U + D  Q = 26 

R = B + D  R = 15 

S = 2V - J  S = 41 

T = P - D  T = 19 

U =  M ÷ 3  U = 10 

V = 2F  V = 22 

W = T - 6  W = 13 

X = R + J  X = 18 

Y = 2J + U  Y = 16 

Z = K ÷ 5  Z = 4 


